7N\
(' rReDMOND GARY (RG JAUSTRALIA PTY.LTD.)

ACN: 070 053 584 N ABN: 39 070 053 584
23 - 25 Production Ave Phone: 07 55949844
Molendinar, QLD, 4214 Fax: 07 55949079
Australia www.rg.com.au Email: sales@rg.com.au

TL MEWP Basket Levelling Drive Motor Replacement Procedure

Report N° 601022-05

Rev No.: | Date: Author: Description:
04-05-2021 Adrien Vigoulette Original

Reference Documents:

1.| O1E065 Parker TE165 Motor Upgrade Kit for Basket Levelling
Drive

Applicable Vehicles : TL MEWPSs

Overview: This procedure outlines the steps required to replace the hydraulic motor
for the TL MEWP basket levelling drive. The motor is replaced with an
alternative model to reduce noise and vibration during operation. The
fastener torque seal needs to be checked periodically as per the operator
manual specification.

Parts & Equipment Required:

Item No | Description Comment
1. Safety Glasses & relevant PPE
Parker TE165 Motor Upgrade Kit for Basket
2. 01E065 Levelling Drive — Refer to Annex A for
drawing
3. White paint and primer White paint to touch up exposed locations
4. Spanner size 19 To suit M12 fastener
5. Allen keys size: 10, 8, 5/16” To suit M12, M10, 3/8” and M6 cap screws
and 5 respectively
6. Torque seal For future inspection of fasteners
7. Loctite 243 or equivalent For all fasteners
8. 6 mm earth strap i
9. Crane and slings (or To support the basket before dis-assembly.
equivalent)
10. Pallet and mat (or equivalent) | To protect the basket rim from being
damaged

Table 1 — Parts and equipment table

Please contact Redmond Gary if you have any further questions.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 1 of 9 Dated 26 May 2021



Procedure:

1. Ensure that the area for the repair is demarcated. Personnel must not stand under the
booms or the basket.

2. Deploy the MEWP jacklegs to operate the booms

3. Lower the booms so that the basket is close to the ground. Leave enough clearance for
the basket to tilt without contacting the ground. See Figure 1 as an example.

Figure 1 — Example MEWP cnfiguration to lower the basket to the ground

4. Switch the operation mode to Base Controls using the lever illustrated in Figure 2 and
tilt the basket down, ensuring the basket does not contact the ground

Main System Pressure Gauge.
There MUST be system
pressure for controls to
function. Pump handle as
needed.

Base Controls Activate

Slew Lever Fly/Boom Manual

Bleed down Lever

Basket Levelling
Lever

Handle located on
boom rest goes here.

Figure 2 — Base control at the rear kerb side jackleg

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 2 of 9 Dated 26 May 2021



5. Support the underside of the basket rim as illustrated below (using a pallet with a mat
or equivalent support). Place a sling around the basket as shown and attach to a crane.
Lightly tension sling via crane to just hold the basket weight.

Figure 3 — Basket must be supported through a sling with rim protected by a pallet and a mat
(or equivalent)

6. Disengage the PTO and switch off ignition to dump any stored accumulator pressure

7. At the manual control station, lift and lower the basket levelling lever a couple of
times to release any trapped oil pressure.

Main System Pressure Gauge.
There MUST be system
pressure for controls to
function. Pump handle as
needed.

Base Controls Activate

Slew Lever Fly/Boom Manual

Bleed down Lever

Basket Levelling
Lever

Handle located on
boom rest goes here.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 30of 9 Dated 26 May 2021



8. Remove LV FRP cover at the fly boom end and the bulkhead LV cover (levelling
drive access covers)

Levelling Drive
access cover

Bulkhead LV
covers

9. Disconnect the old levelling drive motor and close the motor supply hoses with
blanking plugs

10. Replace the levelling drive end cap with 01E064 as illustrated below using 4 x M10
low head cap screws. Apply Loctite 243 or equivalent to each fastener thread before
inserting and torque to approx. 50 Nm.

01E064

Figure 4 — Replaced levelling drive end cap 01E064

11. Insert M12 bolt and cap screw into 01E063 (as they will not fit if fitted later).
Assemble the Parker motor with plate 01E063 using the 4 x 3/8 low head cap screws
torqued to approx. 50 Nm as shown in Figure 5. Apply Loctite 243 to each fastener
thread before inserting.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 4 of 9 Dated 26 May 2021



3/8 low head
cap screws

M12 Cap screw

M12 bolt

01E063

Figure 5 — Parker TE165 motor assembled with 01E063 plate

12. Assemble the motor and the worm drive as shown in Figure 6. Torque M12 bolt and
cap screw to approx. 50 Nm.

13. Replace the 8 mm earth strap with a 6 mm one to suit new bolt connection (refer to
Figure 6 for illustration)

14. Touch up exposed surfaces with white paint. Add torque seal to the M12 bolt and
screw. Add torque seal to the screw thread protruding from the motor flange. Re-
connect the hydraulic hoses to the motor.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 50f 9 Dated 26 May 2021



V..
Torque seals at |
threads

Figure 6 — Assembled Parker TE165 and worm drive
15. Switch on the ignition and engage the PTO

16. Level the basket with manual controls and check for leaks, then if the basket levelling
works correctly switch back to normal controls. If the levelling direction is wrong,
follow the steps 17 and 18 below.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 6 of 9 Dated 26 May 2021



17. Only if the levelling direction is incorrect, repeat steps 6 and 7 to de-energise the
system. Remove the LV FRP cover circled below and, swap the hoses at the fly boom

as indicated in Figure 7

Swap hoses (if new motor
rotates the opposite way)

Levelling drive
access covers

4 7 |
Figure 7 —Kerb side Hoses (marked BU and BV) above bulkhead to be swapped for the
Parker motor to run in the correct direction

AWARNING

The hoses indicated at the fly boom must
be swapped if the levelling direction is
incorrect. Serious damage to the MEWP
can occur if this is not done.

18. Refit the LV FRP covers at the fly boom end (levelling drive motor access cover) and
at the top of the fly boom (if it was removed)

19. Ensure that all surfaces are free from oil — especially the fly boom and LV covers

AWARNING

All surfaces must be free from oil as the fly
boom is the main insulator of the MEWP.
Oily surfaces pose arisk of serious injury

or death by electrocution.

20. Repeat steps 15 and 16 to re-energise the system and change from manual to normal
controls

21. Load the basket up to rated capacity and operate the fly boom up and down to check
that the levelling drive operates as expected. Re-check for leaks and repair if needed.

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 7 of 9 Dated 26 May 2021



ANNEX A — Worm Drive Motor Replacement Kit — 01E065
1 | 2 | 3 | 4

h 4 |

; :
Fem E‘g oL Fev | Drown Dezcriptien Moterinl SEB Muoteriol :"f
1 |rEDe3 Frresr Moter Siew Orive Agaotor Alote Furte 15 mn 1 Assemhly S'I'el]s
2 |oEXL Bazket wiorm [rive Motor Replocenent Plote Plote 25 an 1
Ll R LG L] os K. C Puoted 1
e ~= EERPA e a3 - 2. Assemble the slew bearing and 01E064:
5 |N# L] 1
5 |N# L] [TE - 165 - F5 - 41- 0~ AMAS 1 '._-H\\
7 N L] 1
B N No  |Socket Hexd Coprrew MIZ x 25 1
3 N No  |Socket Hexd Moxio 1
10 |N# Mo |Socket Low Hend Cop Screw M0 130 9 Ihc £ b
s n N No  |worm Oriwe without Mator o SAE Finnge WO1Z-150-4- 20 _RevE Sieel 1

1. Assemble the Parker motor and 01E063 -

Fiit Radiol Seal & O-Ring fo
DIE0ES prior to bolfing on

£
F |I_I
\Q":'l / ) ;\'
- 2
B Section A-A Nz
" Detoil B
12
WEEaT o aet ica or cazy witho cermccion Lazprigrt Rt
TN e e
( Redmond Gary jﬁa{ausnalla Pry.Lid)
L] Frojech TN
Modified WO2 Worm Orive with TE1ES motor
Original ke - was PSO0DD, reviced 10 De production part: Orowing Mo, fev | Sheer Ao
5|07 EF)| Dezorigmien DIEDES | | 10 2

T I B I A l

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 8 of 9 Dated 26 May 2021



1 [ 2 [ f L h 4 3 3 I 3
3. Assemble the Parker motor and the slew bearing:
H
: 8 )} Homd tight 1—50 Nel, opply Lectite 243 and forque senl
3
I = ]
| ¢ 4
H
Electrical fect paint connacfian e
| o ]
= o 2
:
] 1508) (1101 n
E B
| | 15 ||
T S PO T e P e~ T G o R o o A o 5a¥ i or oy Ao mermioi. Lazia ek
AN 070 055 584
(Redmond Gary | R [Austraiia Pry Ltd)
R
" Project: EwF H
Modified WO1Z Worm Orive with TE165 motor
Original E=ue - o= PSO00D, revicad %o e praduction pare: Drowing Mo s2v | Sheer azf
£7| Denerioion 0IE0SS | Infz
1 | B | L A 5 | B

J:\Engineering Reports\Reports\601022-05 TL MEWP Levelling Drive Motor Replacement Procedure.docx
Redmond Gary Australia Page 9 of 9 Dated 26 May 2021



